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How much are Karin-Ames?

F’cﬁb (Questton)
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Keyword:Karin Ames , Money conversion
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(The Japanese translation)
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H585R (The English translation)
<Question!>
4Tbundles Karin Ames is held by a rope of

8shaku‘

How much is 1800bundles Karin Ames which is
held by a rope of BHshaku?

However, Karin Ames which is held by a rope
of bshaku make a discount of 10% off than

Karin Ames which is held by a rope of 3shaku

<Answer>

Gold95bve 2bu and Silveri4monne gbu gri
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S LPBEF DY) (Prices of the Edo period)

Z 14 =16X =400 ER1T=60X=1500MH

WTIF1E =20X =330H BX1# (1.5kg) =100 =2500H
AA4H1E =40 =660H #M{E1E (TP ~ K3k) =124 =2046H
B (R1hA %) =8X=132H TAYT2a=TX=116H

HA7 =25/ =165 H FFE (1A) =8250H

R (14k) =24 =37%3000H ELIcYE=1000/F =66075 H

1 BUCKWHEAT NOODLE =16MON =4QQYEN 1 TQFU =60MON=150(QYEN

1 BOILED EGG = 20MON =33(YEN A CUP OF RICE =100MON =250(YEN
TOOTH PASTE =8MON =132YEN TISSUE =7MON =116YEN

JAPANESE SWORD =25RYOU =1650000YEN TERAKOYA =8250YEN

1 LOTTERY TICKET =2BU =33000YEN WIN THE LOTTERY =1000RYOU =66000000YEN
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T . %?ﬁ@%%a o X718 (Summary * Next challenge * Thought)

7ist 154£ B# 5
OHFIUEE ZAULBRKXE HREAME

AHBEHE  TTAEN

FIIRLNIZ2% L, ZEDAE D
BA4T2NT 5,
TFAXINEFISNEDT, 1
NH1 B % F\W9E]|TH| 5,

5 9
3% X 47 = 0" 470
N, BRINEZ2FL, RHDLAE
DE1800% T4,

52 x 1800 = 45000
IR RBDA4T70TE| L,
45000 ~ 470 = 95. 74468

N R R T DO, 7446800582

Y 50. 57514,
0.74468 — 0.5 =0. 24468
CNESRICE T /O Y EBFDEFO0
2T 5,
0.24468 X 60 = 14. 68" - -
LoTEKZIL, 295m275 ¥R 147
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MZ2MANES (The mathematical content)
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34X 47=423

54X 1800 X 9/10=40500

40500 +423=95.74468
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HK585R ( The mathematical English translation )

First more than three feet and 2 squared 3, the standard cutting bean

number 4/.

Also divided by 9 percent than question 1 discounted so 1 minus 7%.
9
32X 47 +— =470

10

Put the harvesting beans and 2 squared 5 more than 5 feet, the number of

1800.

52 x 1800 = 45000

Then 1t divided by 470.

1
45000 X ——= =95.74468

470

Pull the 0.74468 scale consisting of 2 minutes and 0.5.
For this fix to the silver put the quotes at that time 60.
0.24468 X 60 = 14.68--Fy answer 95 2-gold and silver momme 74 6-8 RI;

In 1ssue statement 5 scale with 7 discounted.

We calculate as follows.
3% X47=423
52%1800X9/10=40500

40500+423=9b.74468
[t Is the same answer.

* Jo calculate the surgery was only kanjy numbers dauring the Edo
period, the Cut each calculation to avoid the trouble of writing a well

considered.

S TP DURA (An income of the Edo period)

LR BN (BESRENEFRM) =807 M + kK857 A =#1930/&H

& Bf = & €400/ = & {€40007 M
AL (1MA) =10800X =277 H

EDO SHOGNATE =800000kYOU +RICE 850000G0XU=ABOUT 193000000000YEN

DOCTOR =400%YOU =40000000YEN

CARPENTER =108008Y =270000YEN
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Sl EE7)Eckt  Quotation : Sanpo hututankai
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IEEITTHE AD.1673 Enpo the first year A.D.1673
E=EH NEBEBER Author : Murase Yoshimasu

F&0 R
[AEHRIEIEFEHARGEICL. RRTEALHPRICE Lo CORIEIL “ s
ZDEFICEALTWBEDT. 6 2 B4 HE N TN, EEES YR BEEFLBHSTOELE LML, RV EFDXERNRZEICTEY
"In 1 percent of undiminished” a particularly difficult parts and UZ\Z'(‘E)%L??")ET‘TO Y, ETH L. BRERRTE, LTHRVE
modern languages, be translated into English. This problem is linked to R RERZILHTER Lz HBBRUIVIIBILATETIN =TT,
the old currency, many units had been used. Thought that it was easier to be honest. But still old sentence to modern
. =M B language was very difficult. But it could cooperate with the team, can
7 &@;%EE solve problems, get a very good sense of accomplishment. We're glad
FFETEZZRDBILRO. RRTAUITEN. RXEFNGEICTEUI. FH L= Ehb. that do not normally experience.
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Formula for the answer and was able to translate the original text to Mandarnn,
struggled. So I thought to find the meaning of the word suitable, it’s necessary.




